ITB No. 24-101664 ITB Name: Pressure Washing Services for Count

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

Bid Opening: August 28, 2024 Price Schedule Opening: October 2, 2024 Agent: Toneya B. Dawson

		Wainwright Construction		Facility Maintenance Service Group		KSK Lanscaping Inc.		MKC Sparkle Shine Power Wash		Public Facilities & Services Inc.		
LINE NO.	PARK NAME	EST SQ. FEET	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST
1	BIFFLE	4172	\$0.59	\$2,461.48	\$0.12	\$500.64	\$0.25	\$1,043.000	\$0.70	\$2,920.40	\$0.50	\$2,086.00
2	BOULDERCREST	7245	\$0.59	\$4,274.55	\$0.12	\$869.40	\$0.25	\$1,811.250	\$0.70	\$5,071.50	\$0.50	\$3,622.50
3	BROOKSIDE (2 LOCATIONS)	4273	\$1.18	\$5,042.14	\$0.12	\$512.76	\$0.25	\$1,068.250	\$0.70	\$2,991.10	\$0.50	\$2,136.50
4	BRUCE STREET	5750	\$0.59	\$3,392.50	\$0.12	\$690.00	\$0.25	\$1,437.500	\$0.70	\$4,025.00	\$0.50	\$2,875.00
5	CEDAR	6636	\$0.59	\$3,915.24	\$0.12	\$796.32	\$0.25	\$1,659.000	\$0.70	\$4,645.20	\$0.50	\$3,318.00
6	CHAPEL HILL (2 LOCATIONS)	6488	\$1.18	\$7,655.84	\$0.12	\$778.56	\$0.25	\$1,622.000	\$0.70	\$4,541.60	\$0.50	\$3,244.00
7	DEARBORN	3014	\$0.59	\$1,778.26	\$0.12	\$361.68	\$0.25	\$753.500	\$0.70	\$2,109.80	\$0.50	\$1,507.00
8	DELANO LINE (2 LOCATIONS)	3579	\$1.18	\$4,223.22	\$0.12	\$429.48	\$0.25	\$894.750	\$0.70	\$2,505.30	\$0.50	\$1,789.50
9	DEKALB MEMORIAL	10268	\$0.59	\$6,058.12	\$0.12	\$1,232.16	\$0.25	\$2,567.000	\$0.70	\$7,187.60	\$0.40	\$4,107.20
10	EMMIE SMITH	2562	\$0.59	\$1,511.58	\$0.12	\$307.44	\$0.25	\$640.500	\$0.70	\$1,793.40	\$0.50	\$1,281.00
11	EMORY GROVE	3121	\$0.59	\$1,841.39	\$0.12	\$374.52	\$0.25	\$780.250	\$0.70	\$2,184.70	\$0.50	\$1,560.50
12	EXCHANGE	5446	\$0.59	\$3,213.14	\$0.12	\$653.52	\$0.25	\$1,361.500	\$0.70	\$3,812.20	\$0.50	\$2,723.00
13	FLAT SHOALS	4070	\$0.59	\$2,401.30	\$0.12	\$488.40	\$0.25	\$1,017.500	\$0.70	\$2,849.00	\$0.50	\$2,035.00
14	FORK CREEK MOUNTAIN	3720	\$0.59	\$2,194.80	\$0.12	\$446.40	\$0.25	\$930.000	\$0.70	\$2,604.00	\$0.50	\$1,860.00
15	FRAZIER ROWE	561	\$1.60	\$897.60	\$0.12	\$67.32	\$0.25	\$140.250	\$0.70	\$392.70	\$1.34	\$751.74
16	GLEN EMERALD	5460	\$0.59	\$3,221.40	\$0.12	\$655.20	\$0.25	\$1,365.000	\$0.70	\$3,822.00	\$0.50	\$2,730.00
17	GRESHAM	2615	\$0.59	\$1,542.85	\$0.12	\$313.80	\$0.25	\$653.750	\$0.70	\$1,830.50	\$0.50	\$1,307.50
18	GRESHAM	2737	\$0.59	\$1,614.83	\$0.12	\$328.44	\$0.25	\$684.250	\$0.70	\$1,915.90	\$0.50	\$1,368.50

		Wainwright Construction		Facility Maintenance Service Group		KSK Lanscaping Inc.		MKC Sparkle Shine Power Wash		Public Facilities & Services Inc.		
LINE NO.	PARK NAME	EST SQ. FEET	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST
19	HAIRSTON	5235	\$0.59	\$3,088.65	\$0.12	\$628.20	\$0.25	\$1,308.750	\$0.70	\$3,664.50	\$0.50	\$2,617.50
20	HAMILTON RECREATION	6278	\$0.59	\$3,704.02	\$0.12	\$753.36	\$0.25	\$1,569.500	\$0.70	\$4,394.60	\$0.50	\$3,139.00
21	KITTREDGE	2500	\$0.59	\$1,475.00	\$0.12	\$300.00	\$0.25	\$625.000	\$0.70	\$1,750.00	\$0.50	\$1,250.00
22	LITHONIA	3278	\$0.59	\$1,934.02	\$0.12	\$393.36	\$0.25	\$819.500	\$0.70	\$2,294.60	\$0.50	\$1,639.00
23	LONGDALE	8889	\$0.59	\$5,244.51	\$0.12	\$1,066.68	\$0.25	\$2,222.250	\$0.70	\$6,222.30	\$0.50	\$4,444.50
24	LUSCIOUS SANDERS	3655	\$0.59	\$2,156.45	\$0.12	\$438.60	\$0.25	\$913.750	\$0.70	\$2,558.50	\$0.50	\$1,827.50
25	NH SCOTT	5243	\$0.59	\$3,093.37	\$0.12	\$629.16	\$0.25	\$1,310.750	\$0.70	\$3,670.10	\$0.50	\$2,621.50
26	LOU WALKER	3160	\$0.59	\$1,864.40	\$0.12	\$379.20	\$0.25	\$790.000	\$0.70	\$2,212.00	\$0.50	\$1,580.00
27	MARY SCOTT	842	\$1.07	\$900.94	\$0.12	\$101.04	\$0.25	\$210.500	\$0.70	\$589.40	\$0.89	\$749.38
28	MASON MILL	16293	\$0.59	\$9,612.87	\$0.12	\$1,955.16	\$0.25	\$4,073.250	\$0.70	\$11,405.10	\$0.40	\$6,517.20
29	MEDLOCK	12694	\$0.59	\$7,489.46	\$0.12	\$1,523.28	\$0.25	\$3,173.500	\$0.70	\$8,885.80	\$0.40	\$5,077.60
30	MIDWAY	3330	\$0.59	\$1,964.70	\$0.12	\$399.60	\$0.25	\$832.500	\$0.70	\$2,331.00	\$0.50	\$1,665.00
31	OAK CREEK	1582	\$0.59	\$933.38	\$0.12	\$189.84	\$0.25	\$395.500	\$0.70	\$1,107.40	\$0.50	\$791.00
32	PENDERGRAST PARK	2365	\$0.59	\$1,395.35	\$0.12	\$283.80	\$0.25	\$591.250	\$0.70	\$1,655.50	\$0.50	\$1,182.50
33	PLEASANTDALE	2340	\$0.59	\$1,380.60	\$0.12	\$280.80	\$0.25	\$585.000	\$0.70	\$1,638.00	\$0.50	\$1,170.00
34	PRINCETON	1925	\$0.59	\$1,135.75	\$0.12	\$231.00	\$0.25	\$481.250	\$0.70	\$1,347.50	\$0.50	\$962.50
35	PEA RIDGE PARK	2935	\$0.59	\$1,731.65	\$0.12	\$352.20	\$0.25	\$733.750	\$0.70	\$2,054.50	\$0.50	\$1,467.50
36	RUTLEDGE	1285	\$0.70	\$899.50	\$0.12	\$154.20	\$0.25	\$321.250	\$0.70	\$899.50	\$0.58	\$745.30
37	REDAN	5625	\$0.59	\$3,318.75	\$0.12	\$675.00	\$0.25	\$1,406.250	\$0.70	\$3,937.50	\$0.50	\$2,812.50
38	SHOAL CREEK I	1170	\$0.77	\$900.90	\$0.12	\$140.40	\$0.25	\$292.500	\$0.70	\$819.00	\$0.64	\$748.80

			Wainwri	ght Construction	Facility Maintenance Service Group		KSK Lanscaping Inc.		MKC Sparkle Shine Power Wash		Public Facilities & Services Inc.	
LINE NO.	PARK NAME	EST SQ. FEET	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST
39	SHOAL CREEK II	3900	\$0.59	\$2,301.00	\$0.12	\$468.00	\$0.25	\$975.000	\$0.70	\$2,730.00	\$0.50	\$1,950.00
40	SHOAL CREEK III	3299	\$0.59	\$1,946.41	\$0.12	\$395.88	\$0.25	\$824.750	\$0.70	\$2,309.30	\$0.50	\$1,649.50
41	SPRINGBROOKE	818	\$1.10	\$899.80	\$0.12	\$98.16	\$0.25	\$204.500	\$0.70	\$572.60	\$0.92	\$752.56
42	STONEVIEW	4242	\$0.59	\$2,502.78	\$0.12	\$509.04	\$0.25	\$1,060.500	\$0.70	\$2,969.40	\$0.50	\$2,121.00
43	TOBIE GRANT	7891	\$0.59	\$4,655.69	\$0.12	\$946.92	\$0.25	\$1,972.750	\$0.70	\$5,523.70	\$0.50	\$3,945.50
44	TRUELOVE	4901	\$0.59	\$2,891.59	\$0.12	\$588.12	\$0.25	\$1,225.250	\$0.70	\$3,430.70	\$0.50	\$2,450.50
45	WADE WALKER (3 LOCATIONS)	13666	\$0.70	\$9,566.20	\$0.12	\$1,639.92	\$0.25	\$3,416.500	\$0.70	\$9,566.20	\$0.40	\$5,466.40
46	WASHINGTON	3696	\$0.59	\$2,180.64	\$0.12	\$443.52	\$0.25	\$924.000	\$0.70	\$2,587.20	\$0.50	\$1,848.00
47	WD THOMPSON	2980	\$0.59	\$1,758.20	\$0.12	\$357.60	\$0.25	\$745.000	\$0.70	\$2,086.00	\$0.50	\$1,490.00
,	Sub Total - PLAYGF	ROUNDS		\$140,166.82		\$26,128.08		\$54,433.50		\$152,413.80		\$104,984.68
48	GRESHAM POOL	8,000	\$0.59	\$4,720.00	\$0.30	\$2,400.00	\$0.25	\$2,000.00	\$0.70	\$5,600.00	\$0.50	\$4,000.00
49	EXCHANGE SPLASHPAD	20,375	\$0.59	\$12,021.25	\$0.30	\$6,112.50	\$0.25	\$5,093.75	\$0.70	\$14,262.50	\$0.40	\$8,150.00
50	LITHONIA POOL	22,645	\$0.59	\$13,360.55	\$0.30	\$6,793.50	\$0.25	\$5,661.25	\$0.70	\$15,851.50	\$0.40	\$9,058.00
51	KITTREDGE POOL	9,105	\$0.59	\$5,371.95	\$0.30	\$2,731.50	\$0.25	\$2,276.25	\$0.70	\$6,373.50	\$0.50	\$4,552.50
52	TOBIE GRANT POOL	11,765	\$0.59	\$6,941.35	\$0.30	\$3,529.50	\$0.25	\$2,941.25	\$0.70	\$8,235.50	\$0.40	\$4,706.00
53	MEDLOCK POOL	11,390	\$0.59	\$6,720.10	\$0.30	\$3,417.00	\$0.25	\$2,847.50	\$0.70	\$7,973.00	\$0.40	\$4,556.00
54	MIDWAY POOL	13,240	\$0.59	\$7,811.60	\$0.30	\$3,972.00	\$0.25	\$3,310.00	\$0.70	\$9,268.00	\$0.40	\$5,296.00
	Sub Total - POOL DECKS			\$56,946.80		\$28,956.00		\$24,130.00		\$67,564.00		\$40,318.50
55	FLAT SHOALS LARGE	910	\$0.99	\$900.90	\$0.30	\$273.00	\$0.26	\$236.60	\$0.70	\$637.00	\$0.82	\$746.20
56	FLAT SHOALS SMALL	600	\$1.50	\$900.00	\$0.30	\$180.00	\$0.26	\$156.00	\$0.70	\$420.00	\$1.25	\$750.00

		Wainwri	ght Construction	Facility Maintenance Service Group		KSK Lanscaping Inc.		MKC Sparkle Shine Power Wash		Public Facilities & Services Inc.		
LINE NO.	PARK NAME	EST SQ. FEET	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST
57	LITHONIA	2600	\$0.59	\$1,534.00	\$0.30	\$780.00	\$0.26	\$676.00	\$0.70	\$1,820.00	\$0.50	\$1,300.00
58	MASON MILL LARGE	1530	\$0.59	\$902.70	\$0.30	\$459.00	\$0.26	\$397.80	\$0.70	\$1,071.00	\$0.50	\$765.00
59	MASON MILL SMALL	715	\$1.26	\$900.90	\$0.30	\$214.50	\$0.26	\$185.90	\$0.70	\$500.50	\$1.05	\$750.75
60	NH SCOTT PARK LARGE	3510	\$0.59	\$2,070.90	\$0.30	\$1,053.00	\$0.26	\$912.60	\$0.70	\$2,457.00	\$0.50	\$1,755.00
61	SHOAL CREEK I	840	\$1.07	\$898.80	\$0.30	\$252.00	\$0.26	\$218.40	\$0.70	\$588.00	\$0.89	\$747.60
62	SHOAL CREEK I	1220	\$0.74	\$902.80	\$0.30	\$366.00	\$0.25	\$305.00	\$0.70	\$854.00	\$0.61	\$744.20
63	SHOAL CREEK II SMALL	745	\$1.21	\$901.45	\$0.30	\$223.50	\$0.25	\$186.25	\$0.70	\$521.50	\$1.01	\$752.45
64	SHOAL CREEK II LARGE	3160	\$0.59	\$1,864.40	\$0.30	\$948.00	\$0.25	\$790.00	\$0.70	\$2,212.00	\$0.50	\$1,580.00
65	BOULDERCREST PARK	600	\$1.50	\$900.00	\$0.30	\$180.00	\$0.25	\$150.00	\$0.70	\$420.00	\$1.25	\$750.00
66	BOULDERCREST PARK	1120	\$0.80	\$896.00	\$0.30	\$336.00	\$0.25	\$280.00	\$0.70	\$784.00	\$0.67	\$750.40
67	BOULDERCREST PARK	600	\$1.50	\$900.00	\$0.30	\$180.00	\$0.25	\$150.00	\$0.70	\$420.00	\$1.25	\$750.00
68	CHAPEL HILL PARK	2300	\$0.59	\$1,357.00	\$0.30	\$690.00	\$0.25	\$575.00	\$0.70	\$1,610.00	\$0.50	\$1,150.00
69	CHAPEL HILL PARK	790	\$1.14	\$900.60	\$0.30	\$237.00	\$0.25	\$197.50	\$0.70	\$553.00	\$0.95	\$750.50
70	GRESHAM PARK	1525	\$0.59	\$899.75	\$0.30	\$457.50	\$0.25	\$381.25	\$0.70	\$1,067.50	\$0.50	\$762.50
71	WADE WALKER PARK (3 SHELTERS BY THE LAKE)	4500	\$1.77	\$7,965.00	\$0.30	\$1,350.00	\$0.25	\$1,125.00	\$0.70	\$3,150.00	\$0.50	\$2,250.00
72	WADE WALKER PARK (FRONT)	1720	\$0.59	\$1,014.80	\$0.30	\$516.00	\$0.25	\$430.00	\$0.70	\$1,204.00	\$0.50	\$860.00
73	WADE WALKER PARK (LARGE)	3500	\$0.59	\$2,065.00	\$0.30	\$1,050.00	\$0.25	\$875.00	\$0.70	\$2,450.00	\$0.50	\$1,750.00
74	WADE WALKER PARK (TENNIS COURTS)	1410	\$0.64	\$902.40	\$0.30	\$423.00	\$0.25	\$352.50	\$0.70	\$987.00	\$0.53	\$747.30
	Sub Total - PAV	/ILIONS		\$29,577.40		\$10,168.50		\$8,580.80		\$23,726.50		\$20,411.90

			Wainwright Construction		Facility Maintenance Service Group		KSK Lanscaping Inc.		MKC Sparkle Shine Power Wash		Public Facilities & Services Inc.	
LINE NO.	PARK NAME	EST SQ. FEET	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST	UNIT COST PER SQ. FEET	EXTENDED COST
75	60 (Sixty) SIGNS (Located throughout DeKalb County Park Facilities)	60	\$600.00	\$36,000.00		\$6,957.00	\$85.00	\$5,100.00	\$125.00	\$7,500.00	\$50.00	\$3,000.00
	GRAND TOTAL			\$262,691.02		\$72,209.58		\$92,244.30		\$251,204.30		\$168,715.08
Numb	per of Bids Received:		17		•	,						
LSBE	Participation Benchmark	c/GFE	Yes		Yes		Yes			Yes		Yes
Attendance Mandatory LSBE Meeting (Yes/No)			Yes		Yes		Yes			Yes		Yes
Separate Sealed Price Schedule (Yes/No)		Yes		Yes		Yes			Yes		Yes	
NOTE	IOTES - Numbers posted in red denotes calculation errors.											

Witness Signature: Joydan Marie Holley Agent Signature: Toneya B. Dawson